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Time: 3 Hours                                                 Max. Marks: 75 
                                   Section-A                                        (5X5M=25 Marks) 

Answer any FIVE of the following questions. Each question carries FIVE marks. 
1. Features of Non-Profit Organizations. 
     ĺాŪǷాĸÃతర సంసš  ȁకŐ లǖణ�ల¡  

2. Statement of Affairs 
వŪవȏĸాల ǵĺÂİ�క  

3. Features of Hire Purchase System?  
    అİెŢ  ĥóనుĦĆల¡ పదţǳ లǖణ�ల¡ 

4. Fixed Capital method and Fluctuation Capital method 
Ľిšర మ¢లధన పదŢǳ మĸ�య� అĽిšర మ¢లధన పదŢǳ 

5. Garner Vs Murray case 
ĦారŤȻ Vs మ�ĸÃƘ ĥÃసు   

6. Difference between Hire Purchase System   and Installment Purchase System 

అİెŢ  ĥóనుĦĆల¡ పదŢǳ మĸ�య� ĺాķ�ı�ల ĥóనుĦĆల¡ పదŢǳ మధŪ గల ĮేĬ�ల¡   

7. Anand and Bhaskar are partners sharing profit and losses in the ratio of 2:1. They admitted Chandra into 

business and gave 1/4th share to him in the profits. Calculate the partner’s new profit sharing ratio. 
ఆనంȲ మĸ�య� ĵ�సŐȻ  2:1 ǵషťǳŠ  లĐ ల�భ నȍాś లను పంచుĥóĲÂ ĵ�గసుŠ ల¡. ĺార  చందƔను ల�ĵ�లలĐ 

1/4 వంత§ ĺాట� ఇǩŖ ĵ�గసుŠ ǵĦా Ĩేర ŖĥóĲ�Ťర . ĺాĸ� నూతన ల�భనȍాś ల ǵషťǳŠ  ǵ ల»ĥ�ŐంచంĬ�.   

8. X and Y were in partnership and agreed to dissolve. The Assets realized Rs.  
1, 50,000. The liabilities were as follows: 

Creditors         Rs 90,000         Loan from   X     Rs 40,000 
Capital of X    Rs 20,000         Capital of    Y     Rs 30,000 

     X మĸ�య� Y ĵ�గȎాŵమ�ŪǵŤ రదుŢ  ĨేయĬ�ǵĥ� అంĦ�కĸ�ంĨ�ర . ఆసుŠ ల నుంĬ� వసూల¡   

     ర¤ 1,50,000 . అప­ťల¡ ĥ�Ƙంİ� ȇదంĦా కలవ­. 

     ర ణİ�తల¡                 ర¤ 90,000       X నుంĬ�   అప­ť ర¤ 40,000 

     X ȁకŐ మ¢లధనం    ర¤ 20,000        Y ȁకŐ మ¢లధనం  ర¤ 30,000  

                                                    Section-B                                      (5X10M=50 Marks) 

Answer the following questions. Each carries TEN marks. 
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9.  a)  Difference between Receipts and Payment Account and Income and Expenditure Account. 
వసూళų Ĩెȃųంప­ల ఖ�Į�క¡ మĸ�య� ఆı�య వŪయల ఖ�Į� క¡ మదŪ గల ĮేĬ�లను ĮలెťంĬ� .                                       

Or 

b) From the following data prepare Income & Expenditure Account. 
 

Receipts 
 

Total Rs Payments 
 

Total Rs 
 

To Donations  

To Life Member fee 

To Legacies  

To Subscriptions 

To Lectures  

To Entertainments 

To Old Newspapers Sold 

To Miscellaneous 

 
 
 

 

 

 

50,000 

10,000 

40,000 

41,000 

9,000 

13,000 

500 

500 

 

 

1,64,000 

By Furniture 

By Buildings 

By Salaries 

By Wages 

By Advertisements 

By Miscellaneous 

By Newspapers  

By Printing and Stationary  

By Telephone  

By Electricity 

By Bats & Balls 

By Balance 

 

10,000 

40,000 

5,000 

1,000 

4,000 

1,000 

800 

1,200 

300 

700 

5,000 

95,000 

1,64,000 

 

 

 

 

 

 

 

ĥ�Ƙంİ� ȇవĸాల నుంĬ� ఆı�య వŪయల ఖ�Į� ను తయ�ర  ĨయేంĬ�  

వసూళ¨ų  ǿతŠం ర¤ Ĩెȃųంప­ల¡ ǿతŠం ర¤ 
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To ȇĸాĹ�ల¡  

To Ǯȇత సభŪతŵ ర సుం  

To ĺారసĮ�ŵల¡  

To చంİ�ల¡  

To వ­పĲ�ŪȎాల¡  

To ȇĲċİ�ల¡ 

To Ƿాత ĺాĸాŠ  పǳƔకల అమũకం  

To ȇȇİ�ల¡  

 
 

50,000 

10,000 

40,000 

41,000 

9,000 

13,000 

500 

500 

 

 

 

 

 

1,64,000  

By ఫĸ�ŤచȻ  

By భవĲ�ల¡ 

By ǮĮ�ల¡  

By ĺÂతĲ�ల¡ 

By పƔకటనల¡  

By ȇȇİ�ల¡  

By ĺాĸాŠ పǳƔకల¡  

By మ�దƔణ� & ĽÐśషనĸ�  

By ట½ȃǸč ĲÂ  

By ȇదుŪత§Š   

By బ�Ūట�ల¡ & బంత§ల¡  

Byǵలŵ 

10,000 

40,000 

5,000 

1,000 

4,000 

1,000 

800 

1,200 

300 

700 

5,000 

95,000 

      1,64,000 

 

 
10.     a)   Explain difference between Single Entry System and Double Entry System. 

   ఒంట� పదుŢ  ȇİ�నం నక¡ మĸ�య� జంట పదుŢ  ȇİ�నం నక¡ మదŪ గల ĮేĬ�లను Įలె¡ప­మ¢  

Or 
b) A trader keeps his books by the single entry method. His position on 31/03/2021 was as follows 

Particulars 31-03-2020 31-03-2021 

Cash at Bank 9,000 12,000 

Stock 60,000 75,000 

Debtors 90,000 1,35,000 

Machinery 1,50,000 1,35,000 

Creditors 69,000 75,000 
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                                During the year the trader introduced Rs: 30,000 as additional capital and his drawings 
 were Rs: 1,000 per month.  From the above information you are required to prepare Statement of 
 affairs and find out the profit & loss  for the year ended 31-03-2021 

 ఒక వరŠక¡డ¦ తన ĺాŪǷారం ను ఒంట� పదుŢ  ȇİ�నం పƔĥారం ǵరŵǩంచు చుĲ�Ťడ¦.31/03/2021 అతǵ 

 ఆĸ�šక ĽిŠǳ ĥ�Ƙంİ� ȇదంĦా ఉంİ� . 

ȇవĸాల¡  31-03-2020 ర¤  31-03-2021 ర¤  

బ�ంȡ  లĐ నగధు  

సర క¡  

ర ణగƘసుŠ ల¡  

యంĮ�Ɣ ల¡  

ర ణı�తల¡  

9,000 

60,000 

90,000  

1,50,000  

69,000  

12,000  

75,000  

1,35,000  

1,35,000  

75,000  

       ఆ సంవతరమ� లĐ వరŠక¡డ¦ అదనంĦా 30,000  మ�లదనమ� ĥ�Ƙంద ĮెĨ�Ŗడ¦ మĸ�య� Ĳ±లక¡ 

 1,000 ర¤ ల Ĩôప­ťన Ȏû ంĮ�ǵĥ� ĺాడ¦ĥóĲ�Ťడ¦. ĳ¿ౖన Įెȃĳిన సమ�Ĩ�రం నుంĬ� 31-03-2021 

 వŪవȏĸాల  ǵĺÂı�కను తయ�ర  ĨేĽి  ల�భనȍాś లను కనుĥąŐంĬ� . 

11. a)   Ramu purchased a machine on hire-purchase system. The total cash price of the machine is Rs. 31,960, 

payable Rs. 8,000 down payment and remaining amount payable in three installments of Rs. 12,000, Rs. 

10,000 and Rs. 4,000 at the end of first, second and third year respectively. Interest is charged at 5% p.a. 

charge depreciation at 10% on straight line method.  Prepare ledger accounts in the books of Ramu.  

          ĸామ�  అİెŢ  ĥóనుĦĆల¡ పదţǳĳ¿ౖ ఒక యంĮ�Ɣ ǵŤ ĥóనుĦĆల¡ ĨేĽ¿ను. యంతƔం నగదు ధర ర¤ 31,960. 

 ఒపťందం Įేİ�న ర¤ 8,000 Ĩెȃųంǩ , ǽĦ�ȃన ǿతŠంను  3 ĺాķİ�లలĐ ǿదట�, ĸ²ండవ ,మ¢డవ 

 సంవతŸĸాంతన  వర సĦా  ర¤ 12,000, ర¤ 10,000, ర¤ 4,000 Ĩెȃųంచవల»ను . వĬ�ŝ  ĸÃట� 5%. ఆĽిŠ  

 ĳ¿ౖ తర గ�దలను  Ľిšర ĺాķİ�ల పదţǳ పƔĥారం సంవతŸĸాǵĥ�  10% Ĩôప­ťన ల»ĥ�ŐంĨ�ȃ. ĸామ� 

 ప­సŠĥాలలĐ ఆవĸాŘ  ఖ�Į�లను చూపంĬ�. 

Or 

b) On 1st January 2017 a company purchased Wagons on the installment system. The cash price 

of the  Wagons was ₹ 59,600 and the payment was to be made as follows:  

         ₹ 16,000 was to be paid on agreement and the balance in 3 installments of ₹ 16,000 each at the 

 end of each year. 5% interest per annum is charged by the Wagon Company. The buyers have 
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 decided to write off Depreciation @ 10% annually on the diminishing cash value. Prepare 

 necessary ledger accounts in the books of the buyer.  

 1 జనవĸ� 2017 న ఒక సంసš   ĺాķİ�ల ĥóనుĦĆల¡ పదţǳĳ¿ౖ ĺాŪగȴ లను  ĥąనుĦĆల¡ Ĩేసšంİ�. ĺాట� 

 నగదు ధర, ₹ 59,600 మĸ�య� ĺాట�  Ĩెలų ంప­ల¡ ఈ కƘంİ� ȇధంĦా ĨేయవలĽి  ఉంİ�: ఒపťందం Ǿద    

 జĸ�Ħ�నప­ťడ¦ , ₹ 16,000 ĨెȃųంĨ�ȃ మĸ�య�  ǽĦ�ȃన  ǿĮ�ǵŤ పƔǳ సంవతసరం ǩవĸ�లĐ 3 

 ĺాķ�దల¡ ,ఒĥóŐకŐ ĺాķ�ద ₹16,000 Ĩెలų ంచవలÌను. సంవతŸĸాǵĥ� 5% వĬ�ŝǵ  ĺాŪగȴ ల కంĳ¿Ƕ 

 వసూల¡ ĨేసుŠ ంİ� . తర గ�దల ను తగ�œ త§నŤ ǵలŵల  పదţǳĳ¿ౖ సంవతŸĸాǵĥ�  10% Ĩôప­ťన 

 ల»ĥ�ŐంĨ�ȃ. ĥóనుĦĆల¡ İ�ర ǵ ప­సŠĥాలలĐ అవసరĶ¸Ûన ఆవĸాŘ  ఖ�Į�లను చూపంĬ�. 

12. a)  Define Partnership. What are the contents of partnership deed? 

ĵ�గȎాŵమ�ŪǵŤ ǵరŵǩంచంĬ�. ĵ�గȎాŵమŪ ఒపťందం లĐǵ అంĻాలను ĮెలťంĬ�. 

Or 

b)  P, Q and R share their profits in the ratio of 6/14, 5/14 and 3/14. Their balance sheet as on 31- 12-2021 

was as follows 
Balance Sheet 

Liabilities Amount Rs Assets Amount Rs 
Creditors 
 Bills Payable 
 Capital A/c  

P 
 Q 
 R 

9,000  
3,000  

 
19,000 
16,000 

8,000 
 

55,000 

Land and Buildings 
 Furniture  
Stock  
Debtors  
Cash 

24,000 
3,500 

14,000 
12,600 

 900 
 
 

55,000 
For 1/8 share in profits ’S’ brings Rs.7,000 as capital and Rs.4,200 as goodwill for admission.  

(1). Depreciation furniture by 12% and stock by 10%.  
(2). Create 5% reserve for doubtful debts on debtors.  
(3). Increase land and buildings to Rs.31,000. 
         Show the profit and loss adjustment account and balance sheet. 
 

P,Q మĸ�య� R ల¡ 6/14, 5/14 మĸ�య� 3/14 ǵషťǳŠలĐ ల�భనȍాś లను పంచుĥóంట�నŤ ĵ�గసుŠ ల¡.31-

12-2021 Ĳ�ట� ఆĽిŠ  అప­ťల పట�ś  ĥ�Ƙంİ� ȇదంĦా వ­ంİ�.  

అప­ťల¡ ǿతŠం ర¤ ఆసుŠ ల¡ ǿతŠం ర¤ 
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ర ణı�తల¡  

Ĩెȃųంప­ ǹల¡ų ల¡ 

మ¢లధĲ�ల¡  

     P  

     Q  

     R  

9,000 

3,000 

 

19,000  

16,000  

8,000  

55,000  

భ¢ǽ భవĲ�ల¡  

ఫĸ�ŤచȻ  

సర క¡  

ర ణగసుŠ ƿ ల¡  

నగదు  

24,000 

3,500 

14,000  

12,600 

900  

 

55,000  

S నూతన ĵ�గȎాŵమŪం లĐǵĥ� 1/8 వంత§క¡ Ħాను ర¤ 7,000 మ�లదనం  మĸ�య� ర¤ 4,800 గ�ȭ ȇȽ Ħా 

Įేĺాȃ. 

(1) ఫĸ�ŤచȻ ĳ¿ౖన 12%, సర క¡ ĳ¿ౖన 10% తర గ�ధలను ఏĸాťట� Ĩేయ�ȃ. 

(2) ĸాǵ ĵ�ĥ�ల ǵı�ǵ 5% ఏĸాťట� Ĩేయ�ȃ  

(3) భవĲ�లను ర¤ 31,000 లక¡ ĳ¿ంĨ�ȃ . 

ల�భనషśల సర Ţ ĵ�ట� ఖ�Į�ను మĸ�య� ఆĽిŠ  అప­ťల పట�śǵ చూపంĬ�  

13. a) Explain about Garner Vs Murray Case in detail.  

ĦారŤȻ Vs మ�ĸÃƘ ĥÃసును సȇసŠరంĦా ȇవĸ�ంచంĬ�             Or 

b) Phani, Mani and Krishna are partners in a firm sharing profits and losses in the ratio of 3:2:1. They 
decided to dissolve the partnership business as on 31-03 -2020. Following is the balance sheet on the 

date of dissolution. 
Liabilities Amount Rs Assets Amount Rs 

Phani Capital  
Mani Capital  
Krishna Capital  
Bank over draft 
 Sundry Creditors 

20,000 
10,000 

2,000 
6,000 

12,000 
 

50,000 

Goodwill   
Machinery  
Furniture 
 Stock  
Debtors 

6,000 
25,000 

3,000 
10,000 

6,000 
 

50,000 
Following assets were realized in cash, machinery at Rs.22,000, 50% of stock at Rs.3,500, and debtors were 
collected at 15% less than their book value. Goodwill could not realise any value. Remaining 50% stock was 
taken over by Phani at Rs.3,200. Furniture was taken over by Mani at Rs.2,400. Realization expenses were 
Rs.300 show the necessary ledger accounts. 

ఫణ�, మణ� మĸ�య� కృషş  ĵ�గȎాŵమŪ సంసŠ  లĐ ĵ�గసుŠ ల¡. ĺార  ల�భనȍాś లను 3 : 2: 1 ǵషťǳŠ  లĐ 

పంచుĥóంట�Ĳ�Ťర .ĺార  31-03-2020 న ĵ�గȎాŵమŪ సంసŠను రదుţ  ĨేయధȃĨ�ర .రదుŢ  Įేİ�న ĺాĸ� ఆĽిŠ  

అప­ťల పట�ś  ĥ�Ƙంİ� ȇదంĦా కలదు.   
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అప­ťల¡ ǿతŠం ర¤ ఆసుŠ ల¡ ǿతŠం ర¤ 

ఫణ� మ¢లధనం  

మణ� మ¢లధనం  

కృషş  మ¢లధనం  

బ�ంȡ ఓవȻ Ĭ�Ɣ ņ­ś   

ȇȇద ర ణı�తల¡  

20,000 

10,000 

2,000 

6,000 

12,000 

 
50,000  

గ�ȭ ȇȽ  

యంĮ�Ɣ ల¡  

ఫĸ�ŤచȻ  

సర క¡  

ర ణగƘసుŠ ల¡  

6,000  

25,000 

3,000 

10,000 

6,000 

 
50,000  

ఆసుŠ ల¡ అమũĦా వసూల¡ అķ�న నగదు యంĮ�Ɣ ల¡  ర¤ 22,000 , 50% సర క¡ను 3,500 ర¤ లక¡ 

మĸ�య� ర ణగƘసుŠ ల¡ ప­సŠĥాప­ ȇల¡వ కనŤ 15% తక¡Őవ వసూల¡ అķ�నȇ. గ�ȭ ȇȽ నుంĬ� ఏǽ 

ĸాలÌదు.ǽĦ�ȃన 50% సర క¡ను ఫణ� 3200 ర¤ లక¡ ,ఫĸ�ŤచȻ ను మణ� 2400 ర¤ లక¡ 

ǴసుĥóĲ�Ťర .పĸ�ȍాŐర ఖర Ŗల¡ 300 ర¤. అవసరమķ�న ఖ�Į�లను చూపంĬ� . 

 

___________ 
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Time: 3 Hhrs Max. Marks: 75 

 SECTION-A 

Answer any FIVE questions. Each answer carries 5 marks     5X5=25 Marks 

1. Characteristics of statistics  

2. Qualities of a good average 

3. Types of dispersion 

4. Calculate the mean, median, and mode for the following data set: 

12, 15, 18, 12, 14, 17, 20, 15, 13. 

5. Probable error 

6. Differentiate between positive and negative correlations 

7. Compute Harmonic mean for the following: 

7, 14, 22, 37, 12, 8, 24 
8. Uses of Correlation 

SECTION-B 

Answer the following questions. Each answer carries 10 marks    5X10=50 Marks 

9. A. Define statistics? Explain the limitations of statistics? 

OR 

B. From the following data Draw Percentage bar diagrams? 

Production Expenses Firm X Firm Y Firm Z 

Raw Materials 

Wages 

Direct Expenses 

Indirect Expenses 

25 

15 

8 

7 

45 

15 

10 

10 

30 

20 

20 

10 

Total Cost 55 80 70 

10. A. Define averages and explain the types of averages? 

    OR 

B. From the following data calculate Arithmetic Mean and Median? 

Class 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80 80-90 

B.Com DEGREE EXAMINATIONS:: DECEMBER. - 2023 
THIRD SEMESTER 

PART-II 
COMMERCE 

PAPER III: BUSINESS STATISTICS 
(New Regulations 20-21) 



Intervals  

Frequency 16 12 14 19 30 14 12 10 8 

11. A. What is deviation and explain the types of deviations? 

OR 

B. Calculate Mean Deviation from median for the following data 

   Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 

No. of Students 6 5 8 15 7 6 3 

 

12. A. Differentiate between absolute and relative measures of skewness. Give an example for each? 

OR 

B. Calculate co-efficient of skewness of the following data using Bowley’s Method 

Classes 10-20 20-30 30-40 40-50 50-60 60-70 70-80 

Frequency 7 11 15 20 16 12 4 

Show necessary accounts and Balance Sheet also prepare a loan A/c 

13. A. What is correlation and explain the types of correlation? 

OR 

B. Calculate Rank Correlation co-efficient from the following data 

X 84 82 78 71 78 69 62 61 

Y 14 15 16 16 18 18 16 19 

 

 

_________ 
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 SECTION-A 

Answer any FIVE questions. Each answer carries 5 marks     5X5=25 Marks 

1. Marketing mix 

2. Marketing environment 

3. Marketing segmentation 

4. Advertising 

5. Levels of product 

6. Packaging and labeling 

7. Penetration pricing 

8. Personnel selling 

SECTION-B 

Answer the following questions. Each answer carries 10 marks    5X10=50 Marks 

9. A. What is demand? Discuss the features of demand? 

OR 
A. What is marketing? Discuss the 4 ‘P’s of marketing? 

10. A.  What is buying decision? Explain the stages of the buying decision process? 

    OR 

B.  Discuss the impact of cultural and social factors on buying behavior? 

11.  A. Define product? Discuss the importance of product classification in marketing? 

OR 

B. Elucidate the challenges and opportunities associated with launching new products?  

12. A. Define price? Explain the influencing factors of price? 

OR 

B. Define skimming Price strategy and explain its advantages and disadvantages. 

13. A. What is sales promotion? Explore the different types of sales promotions? 

OR 

B. Discuss the advantages and challenges of online marketing compared to traditional marketing? 

__________ 

B.Com DEGREE EXAMINATIONS:: DECEMBER. - 2023 
THIRD SEMESTER 

PART-II 
COMMERCE 

PAPER III: MARKETING 
(New Regulations 20-21) 
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Time : 3 Hours                           Max. Marks : 75 

SECTION – A 

Answer any FIVE questions.  Each question carries 5 marks    

ఏİేǵ 5 పƔశŤలక¡ సమ�ı�నమ� ĺƔా య�మ�. పƔǳ పƔశŤక¡ 5 మ�ర Őల¡   

(5 x 5 =25 Marks) 

1. Characteristics of Income and Expenditure Account 

ఆİ�య వŪయ�ల ఖ�Į� ȁకŐ లǖణ�ల¡ 

2. Prepare Receipts and Payments account with the following 

ĥ�Ƙంİ� ĺాట�ĮČ వసూళŴ Ĩెȃųంప­ల ఖ�Į�ను తయ�ర  Ĩేయ�మ�.  

 Rs.  Rs. 

Cash in hand (1-1-2021) 

ĨేǳలĐ నగదు (1-1-2021) 
48,000 

Cash at bank (1-1-2021) 

బ�Ūంక¡లĐ నగదు (1-1-2021) 
1,60,000 

Subscriptions  

చంİ�ల¡  
3,50,000 

Scooter purchased 

Ľ¿ౖĥ�Ƚ ĥóనుĦĆల¡  
40,000 

Investments purchased 

ĳ¿ట�ś బడ¦ల అమũకం   
50,000 

Bank interest 

బ�Ūంక¡ వĬ�ŝ   
25,000 

Establishment expenses 

పĸ�Ƿాలన ఖర Ŗల¡  
80,000 

Donations for buildings  

భవనం ĥóరక¡ ȇĸాĹ�ల¡  
1,20,000 

Legacies  

ĺారసĮ�ŵల¡  
45,000 

Life membership fee 

Ǯȇత సభŪతŵ ర సుమ�  
18,000 

Buildings purchased 

భవĲ�ల ĥóనుĦĆల¡  
60,000 

Upkeep of Ground 

ĦĖƘ ంȭ ǵరŵహణ  
14,000 

Cash in hand (31-12-2021) 

ĨేǳలĐ నగదు (31-12-2021) 
56,000 
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3. What are the differences between Single Entry System and Double Entry System?  

ఒంట� పదుŢ  ȇı�నమ�నక¡ మĸ�య� జంట పదుŢ  ȇı�నమ�నక¡ మధŪ గల ĮేĬ�ల¡ ఏȇ?  

4. Hire Purchase system Vs Instalment Purchase System  

అİెŢ  ĥóనుĦĆల¡ పదţǳ Vs  ĺాķİ� ĥóనుĦĆల¡ పదţǳ  

5. Bhaskar Ltd purchased a motor car on Hire purchase basis on 1-1-2018.  The 

payments to be made Rs.60,000 on signing the agreement and the balance in 

yearly instalment of Rs.66,000, Rs.62,000, Rs.58,000 and Rs.54,000 

commencing from 31-12-2018.  Vendor charge 8% interest per annum.  Calculate 

cash price of the motor car.   

ĵ�సŐȻ ȃǽట½ȭ ĺార  1-1-2018 న ఒక Ȁట�ర  ĥార  ను అİెŢ  ĥóనుĦĆల¡ ǷƔా ǳపİ�కన 

ĥóĲ�Ťర .  Ĩెȃųంప­ల¡ ĥ�Ƙంİ� ȇధంĦా ఉనŤȇ.  ఒపťందంĳ¿ౖ సంతకం ĨేĽిన ĺ±ంటĲÂ ర¤.60,000 

ల¡ ĨెȃųంĨ�ȃ ǽĦ�ȃన ǿĮ�Š ǵŤ ĺాĸ�ŷక ĺాķİ�లలĐ 31-12-2018 నుంĬ� వర సĦా 

ర¤.66,000, ర¤.62,000, ర¤.58,000 మĸ�య� ర¤.54,000 ĨెȃųంĨ�ȃ.  అమũకంİ�ర  

సంవతŸĸాǵĥ� 8% వĬ�ŝǵ Ĩ�ȻŘ ĨేȎాŠ ర .  Ȁట�ర  ĥార  నగదు ధరను ల»ĥ�Őంచుమ�.   

6. What are the differences between Fixed Capital Method and Fluctuating Capital 

Method?   

Ľిšర మ¢లధన పదţǳ మĸ�య� అĽిšర మ¢లధన పదţǳ ల మధŪ గల ĮేĬ�ల¡ ఏȇ?  

7. A B and C are partners sharing profits and losses in 5:3:2. They agreed to admit D 

as new partner by giving 1/6th share in the future profit.  Calculate new profit-

sharing ratio and sacrificing ratio.  

A B మĸ�య� C ల¡ ల�భనȍాś లను 5:3:2 ǵషťǳŠలĐ పంచుక¡ĲÂ ĵ�గసుŠ ల¡.  ĺార  భȇషŪత§Š  

ల�ĵ�లలĐ 1/6 వ వంత§ ĺాట�ను ఇǩŖ D ǵ నూతన ĵ�గసుŠ ǵĦా Ĩేర ŖĥąవĬ�ǵĥ� 

అంĦ�కĸ�ంĨ�ర .  నూతన ల�భనȍాś ల ǵషťǳŠǵ మĸ�య� Į�Ūగ ǵషťǳŠǵ ల»ĥ�Őంచుమ�.  

8. Differences between dissolution of Firm and dissolution of partnership   

ĵ�గȎాŵమŪ సంసš రదుŢ  మĸ�య� ĵ�గȎాŵమŪ రదుŢ క¡ మధŪ గల ĮేĬ�ల¡  

 

SECTION – B 

Answer All questions.  Each question carries 10 marks   

అǵŤ పƔశŤలక¡ సమ�ı�నమ� ĺƔా య�మ�.  పƔǳ పƔశŤక¡ 10 మ�ర Őల¡ 

(5 x 10 = 50 Marks) 

9. a. Explain the provision under section 8 of the Companies Act 2013 for formation of 

companies with charitable objects.  
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కంĳ¿Ƕల చటśం 2013 Ľ¿ǖȴ 8 ĥ�Ƙంద ı�ĸ�ũక (ĽÐĺా) దృకťథంĮČ ఏరťĬే సంసšల Ȏాš పనక¡ 

సంబంı�ంǩన ఏĸాťట�ų  ను ȇవĸ�ంచుమ� 

OR 

 

b. Receipts and payments account of Hyderabad Club for the year ended 31-12-2021  

Dr                          Receipts and payments account                                 Cr 

Receipts  Rs.  Payments Rs.  

To Balance b/d  By Rent  6,000 

           Cash  5,000 By Salaries  22,000 

           Bank  18,000 By Canteen expenses  9,000 

To Subscriptions  24,000 By Periodicals  4,750 

To Donations   4,000 By Postage 1,500 

To Sale of old news papers  8,000 By Ground expenses 2,250 

To Entrance fee   9,800   

To Canteen collections  10,000 By Balance c/d: Cash 4,500 

To Legacies  11,200                        Bank 40,000 

 90,000  90,000 

With the additional information given below prepare income and expenditure account 

for the year ended 31st December 2021.   

 1-1-2021 31-12-2021 

 Rs. Rs. 

a. Subscriptions receivable 2,000 4,000 

b. Subscriptions received in advance 1,000 2,000 

c. Furniture 18,000 16,000 

d. Buildings  20,000 19,000 

31-12-2021 ĮČ అంతమķÊŪ సంవతŸĸాǵĥ� ľÁêదĸాబ�Ȳ కųȷ ĺాĸ� వసూళŴ Ĩెȃųంప­ల ఖ�Į�  

Dr                                  వసూళŴ Ĩెȃųంప­ల ఖ�Į�                                 Cr 

వసూళ¨Ŵ  ర¤. Ĩెȃųంప­ల¡  ర¤. 

To ĮెǩŖన ǵలŵ   By అİెŢ    6,000 

           నగదు   5,000 By ǮĮ�ల¡  22,000 

           బ�Ūంక¡   18,000 By ĥాŪంట�ను ఖర Ŗల¡  9,000 

To చంİ�ల¡  24,000 By పǳƔకల¡  4,750 
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To ȇĸాĹ�ల¡  4,000 By Ƿč ĽÐśǭ  1,500 

To Ƿాత ĺాĸాŠ  పǳƔకల అమũకం 8,000 By ĦĖƘ ంȭ ఖర Ŗల¡  2,250 

To పƔĺÂశ ర సుమ�  9,800   

To ĥాŪంట�ȴ వసూల¡ų   10,000 By ĮేȃŖన ǵలŵ:     నగదు  4,500 

To ĺారసĮ�ŵల¡  11,200                          బ�Ūంక¡  40,000 

 90,000  90,000 

 ĥ�Ƙంİ� అదనప­ సమ�Ĩ�రమ�ĮČ 31 Ĭ�Ľ¿ంబర  2021 ĮČ అంతమķÊŪ సంవతŸĸాǵĥ� ఆİ�య 

వŪయ�ల ఖ�Į�ను తయ�ర  Ĩేయ�మ�. 

  1-1-2021 31-12-2021 

 ర¤. ర¤.  

a. ĸావలĽిన చంİ�ల¡  2,000 4,000 

b. మ�ందుĦా వǩŖన చంİ�ల¡  1,000 2,000 

c. ఫĸ�Ťచర   18,000 16,000 

d. భవĲ�ల¡  20,000 19,000 
 

10. a. From the following transactions ascertain net profit  

ĥ�Ƙంİ� వŪవȏĸాలĮČ ǵకర ల�ĵ�ǵŤ ǵĸాţ ĸ�ంచుమ�.  

Particulars ȇవĸాల¡  1-1-2021 31-12-2021 

  Rs. Rs. 

Debtors  ఋణగƘసుŠ ల¡ 18,000 22,000 

Bank Overdraft బ�Ūంక¡ ఓవȻ Ĭ�Ɣ ņ­ś  14,000 19,000 

Buildings  భవĲ�ల¡  25,000 25,000 

Stock సర క¡  20,000 19,000 

Reserve fund ĸ�జర ŵ ǵı�  5,200 6,900 

Outstanding expenses  ĨెȃųంచవలĽిన ఖర Ŗల¡  2,200 2,800 

Cash  నగదు  4,000 5,750 

Investments  ĳ¿ట�ś బడ¦ల¡  24,000 20,000 

Furniture ఫĸ�Ťచర   17,500 23,000 

Machinery యంĮ�Ɣ ల¡  15,000 29,000 

Capital introduced during the year Rs.7,500; Drawings Rs.2,000 per month; 

depreciation on machinery and furniture at 10% on opening balances.   

ఈ సంవతŸరంలĐ పƔĺÂశ ĳ¿ట�śన మ¢లధనం ర¤.7,500.  Ȏû ంతĺాడĥాల¡ Ĳ±లక¡ ర¤.2,000, 

యంĮ�Ɣ ల¡ మĸ�య� ఫĸ�Ťచర  ǷƔా రంభ ǵలŵలĳ¿ౖ తర గ�దల 10% 
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OR 

b. What is Single Entry System?  Explain its features and types  

ఒంట� పదుŢ  ȇı�నం అనĦాĲÂǽ?  İ�ǵ లǖణ�లను మĸ�య� రĥాలను ȇవĸ�ంచుమ� 

11. a. On January 1, 2018 Kavitha Purchased a bus from Sujatha on hire purchase basis.  

Cost of bus is Rs.2,50,000.  Rs.50,000 paid as down payment on the signing the 

agreement. Remaining amount is paid in three equal instalments together with 10% 

interest per annum.  Kavitha write off 10% depreciation under fixed instalment 

method.  Prepare necessary accounts in the books of Kavitha.   

జనవĸ� 1, 2018 న కȇత ఒక బసుŸను  సుజ�త నుంĬ� అİెŢ  ĥóనుĦĆల¡ పదţǳĳ¿ౖ ĥóనుĦĆల¡ 

ĨేĽినİ�.  బసుŸ ఖĸ�దు ర¤.2,50,000.  ఒపťందం ĳ¿ౖ సంతకం ĨేĽిన ĺ±ంటĲÂ తǖణ Ĩెȃųంప­Ħా 

ర¤.50,000 Ĩెȃųంǩనİ�.  ǽĦ�ȃన ǿĮ�Š ǵŤ మ¢డ¦ సమ�న ĺాķİ�లలĐ 10% వĬ�ŝ  ĮČ కȃĳి 

ĨెȃųంĨ�ȃ.  కȇత Ľిšర ĺాķİ�ల పదţǳ పƔĥారం 10% తర గ�దలను రదుŢ  ĨేసుŠ ంİ�.  కȇత 

ప­సŠĥాలలĐ అవసరĶ¸Ûన ఖ�Į�లను తయ�ర  Ĩేయ�మ� 

OR 

b. A purchased a car for Rs.1,00,000 on 1-1-2018 under hire purchase system, 

payment to be made Rs.25,000 down and three instalments of Rs.25,000 each at 

the end of each year.  A depreciated car at 20% p.a. on written down value method.  

Due to financial difficulties A could not pay any instalment after the first instalment 

and the selling company took possession of the car.  Prepare necessary ledger 

accounts in the books of A. 

1-1-2018 న A ర¤.1,00,000 గల ఒక ĥార ను అİెŢ  ĥóనుĦĆల¡ పదţǳĳ¿ౖ ĥóనుĦĆల¡ ĨేĽిĲ�ర . 

తǖణ Ĩెȃųంప­Ħా ర¤.25,000 మĸ�య� మ¢డ¦ ĺాķİ�లలĐ ĺాķİ� ఒĥ�Őంట�ĥ� ర¤.25,000 

Ĩôప­ťన పƔǳ సంవతŸĸాంĮ�న ĨెȃųంĨ�ȃ. A ĥార ĳ¿ౖ తగ�œ త§నŤ ǵలŵల పదŢǳ పƔĥారం 20% 

తర గ�దలను Ĩ�ĸ�Ř ĨేȎాŠ ర .  ఆĸ�šక పరĶ¸Ûన ఇబŧందుల వలన A ǿదట� ĺాķİ� తర ĺాత 

ĺాķİ�ల ను ĨెȃųంచలÌదు.  అమũకప­ కంĳ¿Ƕ ĥార ను Ȏాŵı�న పర చుక¡నŤİ�.  A 

ప­సŠĥాలలĐ అవసరĶ¸Ûన ఆవĸాŘ  ఖ�Į�లను తయ�ర  Ĩేయ�మ� 

12. a. The balance sheet of A and B as on 31-12-2021 is as follows.  They share profits 

and losses in the ratio of 3:1 

31-12-2021 న A మĸ�య� B ల ఆĽిŠ  అప­ťల పట�ś  ĥ�Ƙంద ఇవŵడĶ¸Ûనİ�.  ĺార  ల�భనȍాś లను 

3:1 ǵషťǳŠలĐ పంచుక¡ంట�ర .   

Liabilities  అప­ťల¡  Rs. Assets  ఆసుŠ ల¡  Rs. 

A’s Capital  78,000 Buildings 96,000 
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A మ¢లధనం  భవĲ�ల¡  

B’s capital 

B మ¢లధనం  
46,000 

Furniture  

ఫĸ�Ťచర   
12,000 

General reserve 

Ȏాı�రణ ĸ�జర ŵ 
16,000 

Stock 

సర క¡  
14,000 

Creditors  

ఋణİ�తల¡  
12,000 

Debtors  

ఋణగƘసుŠ ల¡  
12,000 

 
 

Cash  

నగదు  
2,000 

 
 

Plant and machinery 

Ƿాų ంట� యంĮ�Ɣ ల¡  
16,000 

 1,52,000  1,52,000 

They agreed to admit C into the firm on the following terms  

ĺార  ĥ�Ƙంİ� షరత§లĮČ C ǵ సంసš లĐǵĥ� Ĩేర ŖĥąదలǩĲ�ర .   

a. C is given 1/5th share and he have to bring Rs.40,000 as capital.   

C క¡ 1/5 వంత§ ĺాట� ఇవŵడĶ¸Ûనİ�, అతను మ¢లధనంĦా ర¤.40,000 ల¡ 

Ǵసుĥóǵ ĸాĺాȃ.  

b. Goodwill of the firm is valued at Rs.36,000. 

సంసš గ�ȭ-ȇȽ ను ర¤.36,000 ల¡Ħా ȇల¡వ కటśడĶ¸Ûనİ�.   

c. Provide Rs.800 on debtors for bad debts 

ĸాǵ బ�ĥ�ల ĥóరక¡ ఋణగƘసుŠ లĳ¿ౖ ర¤.800 లను ఏĸాťట� Ĩేయ�ȃ.  

d. The value of stock is reduced by 10% 

సర క¡ ȇల¡వను 10% Ĩే తĦ�œంĨ�ȃ  

e. Buildings are appreciated to Rs.1,10,000  

భవĲ�ల ȇల¡వను ర¤.1,10,000 లక¡ ĳ¿ంĨ�ȃ  

Prepare necessary ledger accounts and new firm balance sheet.     

అవసరĶ¸Ûన ఆవĸాŘ  ఖ�Į�లను మĸ�య� ĥóతŠ  సంసš  ȁకŐ ఆĽిŠ  అప­ťల పట�śǵ చూప­మ� 

OR 

b. X, Y and Z are carrying on a business sharing the profits equally.  Their balance 

sheet as on 31-3-2021 is as follows. 

X, Y మĸ�య� Z ల¡ ల�భనȍాś లను సమ�నంĦా పంచుక¡ంట£ ĺాŪǷారం ĨేసుŠ Ĳ�Ťర .  31-3-

2021 న ĺాĸ� ఆĽిŠ  అప­ťల పట�ś  ĥ�Ƙంİ� ȇధంĦా ఉనŤİ�.   
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Liabilities  అప­ťల¡  Rs. Assets  ఆసుŠ ల¡  Rs. 

Creditors  

ఋణİ�తల¡  
50,000 

Bank 

బ�Ūంక¡  
20,000 

Capital accounts  

మ¢లధన ఖ�Į�ల¡  
 

Debtors  

ఋణగƘసుŠ ల¡  
50,000 

X 95,000 
Stock  

సర క¡  
45,000 

Y 75,000 
Plant and Machinery 

Ƿాų ంట� యంĮ�Ɣ ల¡  
80,000 

Z 55,000 
Land and Buildings  

భవĲ�ల¡  
1,00,000 

General reserve 

Ȏాı�రణ ĸ�జర ŵ 
30,000 

Profit and loss A/c  

ల�భనȍాś ల ఖ�Į�  
10,000 

 3,05,000  3,05,000 

Z retired on 1-4-2021 on the following terms 

1-4-2021 న Z ĥ�Ƙంİ� షరత§లĮČ ȇరǽసుŠ Ĳ�Ťడ¦.   

The value of goodwill was agreed as Rs.75,000. Z share is to be adjusted without 

raising the goodwill account.  X and Y share the profits in 3:2 ratio. The value of 

land and buildings had increased to Rs.1,10,000, Plant and machinery was 

revalued at Rs.88,000 and it was also agreed to provide 5% on debtors. Show 

necessary ledger accounts and the balance sheet of the firm after retirement of Z.   

సంసš గ�ȭ-ȇȽ ను ర¤.75,000 ల¡Ħా ȇల¡వ కటśడĶ¸Ûనİ�. Z ĺాట�ను గ�ȭ ȇȽ  ఖ�Į� 

సృļిŜ ంచక¡ంĬ� సర Ţ బ�ట� Ĩేయ�ȃ. భ¢ǽ భవĲ�ల ȇల¡వ ర¤.1,10,000 లక¡ ĳ¿ంచడĶ¸Ûనİ�.  

Ƿాų ంట� యంĮ�Ɣ లను ర¤.88,000 ల¡Ħా మ¢ల�Ūంకనం ĨేయడĶ¸Ûనİ� మĸ�య� ఋణగƘసుŠ లĳ¿ ౖ

5% ఏĸాťట� ĨేయĬ�ǵĥ� అంĦ�కĸ�ంĨ�ర .  అవసరĶ¸Ûన ఆవĸాŘ  ఖ�Į�లను మĸ�య� Z ȇరమణ 

తర ĺాత సంసš  ȁకŐ ఆĽిŠ  అప­ťల పట�ś  ǵ తయ�ర  Ĩేయ�మ�. 

13. a. X, Y, and Z are partners sharing Profits and Losses in the ratio of 4: 3: 2. Following 

is the Balance Sheet of the firm as on 31st March, 2021: 

Liabilities Rs. Assets Rs. 

Partners’ Capitals: 

 

Fixed Assets 5,00,000 

X 4,00,000 Stock in trade 3,00,000 

Y 3,00,000 Sundry debtors 5,00,000 
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Z 2,00,000 Cash in hand 10,000 

General Reserve 90,000 

  Sundry Creditors 3,20,000 

  

 

13,10,000 

 

13,10,000 

Partners of the firm decided to dissolve the firm on the above-said date. Fixed 

assets realized Rs.5,20,000 and book debts Rs.4,40,000. Stocks were valued at 

Rs.2,50,000 and it was taken over by partner Y.  Creditors allowed discount of 

5% and the expenses of realization amounted to Rs.6,000. You are required to 

prepare: 

a) Realization account 

b) Partners’ capital account and 

c) Cash account. 

X, Y మĸ�య� Z ల¡ ĵ�గసుŠ ల¡, ĺార  ల�భనȍాś లను 4:3:2 ǵషťǳŠలĐ పంచుక¡ంట�ర .  

మ�ĸ�Ŗ 31, 2021 న సంసš ȁకŐ ఆĽిŠ  అప­ťల పట�ś  ĥ�Ƙంİ� ȇధంĦా ఉనŤİ�.  

అప­ťల¡  ర¤. ఆసుŠ ల¡  ర¤. 

ĵ�గసుŠ ల మ¢లధĲ�ల¡  

 

ĽిšĸాసుŠ ల¡  5,00,000 

X 4,00,000 సర క¡  3,00,000 

Y 3,00,000 ȇȇధ ఋణగƘసుŠ ల¡  5,00,000 

Z 2,00,000 ĨేǳలĐ నగదు  10,000 

Ȏాı�రణ ĸ�జర ŵ  90,000 

  ȇȇధ ఋణİ�తల¡ 3,20,000 

  

 

13,10,000 

 

13,10,000 

ĳ¿ౖ Įేİ�న ĵ�గసుŠ ల¡ సంసšను రదుŢ  ĨేయĬ�ǵĥ� ǵరşķంĨ�ర .  ĽిšĸాసుŠ ల ĳ¿ౖ ర¤.5,20,000 

మĸ�య� ఋణగƘసుŠ లĳ¿ౖ ర¤.4,40,000 ల¡ వసూల»ౖనȇ.  సర క¡ను ర¤.2,50,000 ల¡ Ħా 

ȇల¡వకటśĦా İ�ǵǵ ĵ�గసుŠ డ¦ Y Ǵసుక¡Ĳ�Ťడ¦.  ఋణİ�తల¡ 5% Ĭ�ȎĝŐంȫ ను 

అనుమǳంĨ�ర  మĸ�య� పĸ�ȍాŐర ఖర Ŗల¡ ర¤.6,000.  ĥ�Ƙంİ� ĺాట�ǵ తయ�ర  ĨేయంĬ�.  

a) పĸ�ȍాŐర ఖ�Į�  

b) ĵ�గసుŠ ల మ¢లధన ఖ�Į�ల¡  

c) నగదు ఖ�Į�   

OR 

b. A, B and C are partners in a firm. They share profits and Losses equally. Their 

Balance Sheet as on 31.3.2021 is given under. 
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Liabilities Rs Assets Rs 

Creditors 32,000 Bank 4,000 

Reserve 9,000 Machinery 20,000 

Capitals: 

 

Furniture 8,000 

              A 8,000 Debtors 20,000 

              C 6,000 B’s Capital 3,000 

 

55,000 

 

55,000 

The firm is dissolved due to insolvency of B and nothing is received from his estate. 

Machinery and Furniture realised Rs.15,000 and Rs.3,200 respectively. Only 

Rs.12,000 is recovered from Debtors.  Creditors were paid at a discount of 5%. 

Prepare Necessary accounts to close the books of the firm as per the decision given 

in Garner VS Murray Case. 

A, B మĸ�య� C ల¡ ఒక సంసšలĐ ĵ�గసుŠ ల¡.  ĺార  ల�భనȍాś లను సమ�నంĦా పంచుక¡ంట�ర . 

ĺాĸ� ఆĽిŠ  అప­ťల పట�ś  31-3-2021 న ĥ�Ƙంİ� ȇధంĦా ఉనŤİ�.   

 

 

అప­ťల¡ ర¤. ఆసుŠ ల¡  ర¤. 

ఋణİ�తల¡  32,000 బ�Ūంక¡  4,000 

ĸ�జర ŵ  9,000 యంĮ�Ɣ ల¡  20,000 

మ¢లధĲ�ల¡  

 

ఫĸ�Ťచర   8,000 

              A 8,000 ఋణగƘసుŠ ల¡  20,000 

              C 6,000 B మ¢లధనం  3,000 

 

55,000 

 

55,000 

B İ�ĺాల� Ǵయడం ĥారణంĦా సంసšను రదుŢ  ĨేయబĬ�నİ� మĸ�య� అతǵ ఎĽÐśȫ నుంĬ� ఎల�ంట� 

ǿతŠం వసూల¡ ĥాలÌదు.  యంĮ�Ɣ ల¡ మĸ�య� ఫĸ�Ťచర  ĳ¿ౖ వర సĦా ర¤.15,000 ల¡ మĸ�య� 

ర¤.3,200 ల¡ వసూల»ౖనȇ.  ఋణగƘసుŠ ల నుంĬ� ర¤.12,000 ల¡ వసూల»ౖనİ�.   ఋణİ�తల¡ 

5% Ĭ�ȎĝŐంȫ ĮČ Ĩెȃųంచబడ¦ను.  ĦారŤȻ Vs మ�ĸÃƘ Ǵర ť పƔĥారం సంసš ప­సŠĥాలను 

మ¢ĽిĺÂయĬ�ǵĥ� అవసరĶ¸Ûన ఖ�Į�లను తయ�ర  Ĩేయ�మ�.   
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B.COM., DEGREE EXAMINATION;; MARCH, 2022 

THIRD SEMESTER 
PART-II 

COMMERCE 
Paper-III ; Business Statistics  

                       (New Regulations 20-21) 

      Time: 3 HRS                                                                           Max. Marks: 75 

Section – A 
    Answer any Five of the following Questions                     (5x5= 25Marks) 

     ĥ�ంİ� పƔశŤలలĐ ఏĺ±Ĳౖ� ఐదు పƔశŤలక¡ సమ�ı�నం ఇవŵంĬ� 

1. Define statistics. 
గణ�ంĥాĻాసŠ Ŭం ను ǵరŵǩంచంĬ�. 

2. Qualities of good average 
మంǩ సగట� లǖణ�ల¡ 

3. Calculate the Mean from the following data 
ĥ�ంİ� సమ�Ĩ�రం నుంǩ అంకగణ�త సగట�ను ల»ĥ�ŐంచంĬ� 

46 45 40 42 38 39 44 43 
4. Find out the Quartiles from the following data 

ĥ�ంİ� సమ�Ĩ�రం నుంǩ చత§ĸాţ ంశం ȇల¡వలను ల»ĥ�ŐంచంĬ�. 

17 19 21 13 16 18 24 22 20 
5. Find out the co- efficient of Range from the data 

İ�గ�వ సమ�Ĩ�రం నుంǩ ĺాŪĳిŠ  మĸ�య� ĺాŪĳిŠ  గ�ణకం కనుĦôనంĬ�. 

14 18 19 21 23 25 27 29 33 34 37 
6. what is meant by Skewness 

                     ĺ±ౖషమŪమ�  అంటÎ ఏǽట�? 

7. Calculate probable error if   r = 0.85, N=9 
r = 0.85, N=9 అķĮే సంĵ�వŪ İోȍాǵŤ ల»ĥ�ŐంచంĬ� 

8. What are the types of correlation 
       సహసంబంధ రĥాల¡ ఏǽట� 

 

Section-B 

Answer any ONE Question from each unit.                            (5 X10=50Marks) 

పƔǳ య¢ǵȫ నుంĬ� ఏİౖెĲ� ఒక పƔశŤక¡ సమ�ı�నం ఇవŵంĬ� 

UNIT-I 



9. What is Statistics? Explain the Importance and Limitations of Statistics? 
గణ�ంĥాĻాసŠ Ŭం అంటÎ ఏǽట�? గణ�ంĥాĻాసŠ Ŭ ǷƔా మ�ఖŪత మĸ�య� పĸ�ǽత§లను 

ȇవĸ�ంచంĬ�? 

OR 

10. Present the following data in pie chart 
ĥ�ంİ� సమ�Ĩ�రం ను ĳ¿ ౖĨ�Ȼś లĐ చూపంĬ�  

Items 
వసుŠ వ­ల¡ 

Food 
ఆȏరo 

Cloth 
వసŠ Ŭం 

Fuel 
ఇంధనం 

Rent 
అİెŢ  

Education 
ȇదŪ 

Others 
ఇతర ల¡ 

Expenditure 
వŪయం 

12 18 30 42 60 78 

UNIT–II 

11. Calculate Median for the following data 
ĥ�ంİ� సమ�Ĩ�రం నుంǩ మధŪగతం ల»ĥ�ŐంచంĬ� 

C-I 
తరగత§ల¡ 

0-10 10-20 20-30 30-40 40-50 50-60 

Frequency 
Ƿĝన ప­ణŪం 

12 30 34 35 65 15 

 

OR 

12. Calculate  Harmonic  mean 
ȏర మదŪంను ల»ĥ�ŐంచంĬ�. 

C-I 
తరగత§ల¡ 

0-10 10-20 20-30 30-40 40-50 50-60 

No. of students 
ȇİ�Ūర š ల సంఖŪ 

5 10 25 30 20 10 

UNIT–III 

13. Calculate Quartile Deviation form the following data. 
ĥ�ంİ� సమ�Ĩ�రం నుంǩ చత§ĸాţ ంశ ȇచలĲ�ǵŤ ల»ĥ�ŐంచంĬ�. 

C-I 
తరగత§ల¡ 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 

Frequency 
Ƿĝన ప­ణŪం 

2 6 8 10 12 4 3 

OR 

 

 



14. Calculate Standard Deviation  for the data given below: 

                       ĥ�Ƙంద ఇవŵబĬ�న సమ�Ĩ�రం నుంǩ ǷƔా మ�ణ�క ȇచలĲ�ǵŤ ల»ĥ�ŐంచంĬ�: 

X 0-10 10-20 20-30 30-40 40-50 50-60 

F 15 17 19 27 19 12 

 

UNIT–IV 

15. Calculate coefficient of Skewness of  the following data using Bowley’s method 
బĞȄ పదţǳǵ ఉపȂĦ�ంǩ ĺ±ౖషమŪమ గ�ణĥాǵŤ ల»ĥ�ŐంచంĬ�. 

C-I 
తరగత§ల¡ 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 

Frequency 
Ƿĝన ప­ణŪం 

7 11 15 20 16 12 4 

OR 
 

16. Explain  the Measures of Kurtosis. 

కక¡ధతŵమ� ȁకŐ ĥóలమ�Ĳ�లను ȇవĸ�ంచంĬ�. 

 
UNIT–V 

17. calculate  karl pearson’s correlation from the following data 
ĥ�ంİ� Ĭేట� నుంĬ� ĥాȻų ĳియరŸȴ సహసంబంı�ǵŤ ల»ĥ�ŐంచంĬ�. 

X 57 58 59 59 60 61 62 64 

Y 67 68 65 68 72 72 69 71 

 

OR 

18. Find the Rank Correlation co-efficient for the following data. 

ĥ�ంİ� Ĭేట� నుంĬ� ĸాŪంȡ సహసంబంı�ǵŤకనుĦôనంĬ�. 

 
 
X 
 

 
29 
 

 
 28 

 
17 

 
15 

 
20 

 
26 

 
27 

 
25 

 
34 

 
19 
  

Y 
 
31 

 
 32 

 
25 

 
29 

 
42 

 
15 

 
43 

 
32 

 
20 
0 

 
40 
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SECTION-A 

Answer any FIVE of the following  (5X5=25Marks) 

 

1. Marketing mix 

మ�ĸ²Őట�ంȣ ǽȡŸ 

2. Marketing environment 

మ�ĸ²Őట�ంȣ ĺాĮ�వరణం 

3. Concept of buying behavior 

ĥóనుĦĆల¡ పƔవరŠన ȁకŐ ĵ�వన 

4. Consumer behavior 

ȇǵȂగİ�ర  పƔవరŠన 

5. Concept of product mix 

ఉతťǳŠ  ǽశƘమం ȁకŐ ĵ�వన 

6. Branding 

బ�Ɣ ంĬ�ంȣ 

7. Skimming price 

ĽిŐǽũంȣ ధర 

8. Promotion mix 

పƔȀషȴ ǽȡŸ 

 

B.Com DEGREE EXAMINATIONS:: MARCH/APRIL-2022 
THIRD SEMESTER 

PART-II 
COMMERCE 

PAPER-III: MARKETING 
(New Regulations 2020-21) 



SECTION-B 

Answer ALL Questions   (5X10=50Marks) 

9. (A). Define marketing and explain its need? 

మ�ĸ²Őట�ంȣǵ ǵరŵǩంచంĬ� మĸ�య� İ�ǵ అవసĸాǵŤ ȇవĸ�ంచంĬ�? 

OR 

(B). Discuss the 4 ‘P’s in marketing? 

మ�ĸ²Őట�ంȣలĐ 4 ‘P’లను చĸ�ŖంచంĬ�? 

10. (A). What is market segmentation and explain the bases of segmentation? 

మ�ĸ²Őȫ  Ľ¿Ħ²ũంటÎషȴ అంటÎ ఏǽట� మĸ�య� ȇభజన ȁకŐ రĥాలను ȇవĸ�ంచంĬ�? 

OR 

(B). Explain the process of buying decision? 

ĥóనుĦĆల¡ ǵరşయం పƔĥ�Ƙయను ȇవĸ�ంచంĬ�? 

11. (A). Define product and explain its classification? 

ఉతťǳŠǵ ǵరŵǩంచంĬ� మĸ�య� İ�ǵ వĸ�œకరణను ȇవĸ�ంచంĬ�? 

OR 

(B). Discuss the product life cycle? 

ఉతťǳŠ  Ǯȇత చకƘం గ�ĸ�ంǩ చĸ�ŖంచంĬ�? 

12. (A). Discuss the influencing factors of price? 

ధరను పƔĵ�ȇతం ĨĽేÐ అంĻాలను చĸ�ŖంచంĬ�? 

OR 

(B). Briefly explain the pricing strategies? 

ధరల వ®Ūȏలను క¡ų పŠ ంĦా ȇవĸ�ంచంĬ�? 

13.  (A).Explain the advantages and disadvantages of online marketing? 

 ఆȴల»ౖȴ మ�ĸ²Őట�ంȣ ȁకŐ పƔȂజĲ�ల¡ మĸ�య� అపƔȂజĲ�లను ȇవĸ�ంచంĬ�? 

OR 

(B).Elucidate the various sales promotion methods? 

ȇȇధ ȇకƘయ�ల పƔȀషȴ పదţత§లను ȇవĸ�ంచంĬ�? 
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SECTION – A 

Answer any FIVE questions.  Each question carries 5 marks    

(5 x 5 =25 Marks) 

1. Features of Tally  

2. Procedure of creation of company  

3. Creation of ledger in Tally  

4. Stock groups creation  

5. Units of measure of stock  

6. Changing the Financial Year in ERP 

7. Importance of activation of bill wise details feature  

8. Exception reports  

 

SECTION – B 

Answer All questions.  Each question carries 10 marks   

(5 x 10 = 50 Marks) 

9. a. What are the advantages and disadvantages of Tally?  

OR 

 b. Explain the various menu options in Tally screen  

10. a. Describe the general configuration and numerical symbols   

OR 

 b. What are the problems in voucher entry in Tally?  

11.  a. Write note on creation of inventory masters in Tally  

OR 

 b. How to create, display and delete a stock in Tally? Briefly explain  

THREE YEAR B.Com DEGREE EXAMINATIONS – MARCH 2023 
THIRD SEMESTER 

PART – II  
TAXATION  

PAPER III : COMPUTERIZED ACCOUNTING  
(New Regulations 2020-2021) 



12. a. What are the various stock category reports in Tally?  

OR 

 b. Explain the concepts of accounts receivable and payable management in Tally  

13. a. What are the advantages of management information system?   

OR 

 b. Describe the MIS reports in ERP  

  


